








(* pracujeme s BSpline bází *)

In[1]:= knots = 0, 0, 0, 0, 1  5, 2  5, 3  5, 4 / 5, 1, 1, 1, 1
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In[2]:= p = 3

Out[2]= 3

In[3]:= m = Length[knots] - 1

Out[3]= 11

In[4]:= n = m - p - 1

Out[4]= 7

In[7]:= B1 = Table[BSplineBasis[{p, knots}, i, t], {i, 0, n}];

In[8]:= Plot[Evaluate[B1], {t, First[knots], Last[knots]} ,

Filling → Axis, PlotRange → Full, PlotTheme → "Scientific"]
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In[9]:= knots = 0, 0, 0, 0, 1  5, 2  5, 1  2, 3  5, 4 / 5, 1, 1, 1, 1
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In[10]:= p = 3

Out[10]= 3

In[11]:= m = Length[knots] - 1

Out[11]= 12

In[12]:= n = m - p - 1

Out[12]= 8

In[13]:= B2 = Table[BSplineBasis[{p, knots}, i, t], {i, 0, n}];



In[14]:= Plot[Evaluate[B2], {t, First[knots], Last[knots]} ,

Filling → Axis, PlotRange → Full, PlotTheme → "Scientific"]
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In[22]:= test = Tablet -> i  30, {i, 0, 30}
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In[39]:= A = B2 /. test;

In[41]:= s = B1 /. test;

In[43]:= M = LinearSolve[A, s] // MatrixForm
Out[43]//MatrixForm=
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